ENSC 201 Quiz: October 3, 2014
This is a closed-book quiz.  Calculators may be used.  There is exactly one right answer to each question, which you should circle.

1) You have been promised a series of ten annual payments of $5,000, the first payment arriving five years from now.  Your personal MARR is 5%.  The present worth of this series of payments is:



a) $5,000(P/F,0.05,5)(P/A,0.05,10)

b) $5,000(P/F,0.05,4)(P/A,0.05,10)

c) $5,000(F/P,0.05,5)(A/P,0.05,10)

d) $5,000(F/P,0.05,4)(P/A,0.05,10)

2) You have been promised a series of ten payments of $500, the first arriving two years in the future, and subsequent payments arriving every two years after that.  Your personal MARR is 8%.  The present worth of this series of payments is:

a) $500(A/P,0.08,2)(P/A,0.08,20)

b) $500(A/F,0.08,2)(P/A,0.08,20)

c) $500(A/P,0.08,2)(P/A,0.08,10)

d) $500(A/F,0.08,2)(F/A,0.08,20)

3) A government has to choose between two projects, A and a more expensive project B. It should choose A instead of B only if:
a) The benefit/cost ratio for A is higher than for B
b) The benefit/cost ratio for A is greater than 1 and the B/C ratio for B is less than 1
c) The B/C ratio for A is greater than 1 and the incremental B/C ratio for upgrading from A to B is less than 1
d) The B/C ratio for A is greater than 1 and the incremental B/C ratio for upgrading from A to B is also greater than 1
4) You have raised $100,000 for a project.  $50,000 was obtained by a mortgage at 5% interest; $40,000 was a bank loan at 10% interest; and the final $10,000 was a high-risk bank loan at 15% interest. What is your weighted cost of capital?
a) (5% + 10% + 15%) / 3
b) 15%
c) (0.5 * 5% + 0.4 * 10% + 0.1 * 15%)
d) You can choose it to be whatever you like
5) You calculate the present worth of a project assuming an interest rate of zero. Then you calculate it again assuming an interest rate of infinity. You expect that there will be multiple solutions for the IRR if:
a) The first present worth is negative and the second positive
b) Both present worths are negative
c) Both present worths are positive
d) The first present worth is positive and the second negative
e) Both (a) and (d)

f) Both (b) and (c)

6) Which of the following statements is true?

a) The salvage value of an asset is always less than its book value

b) Declining-balance depreciation is usually a more accurate reflection of an asset's loss of market value than straight-line depreciation

c) The market value of an asset is always at least as much as its book value

d) Canadian companies are required to depreciate their assets at the same rate in both their internal accounts and their tax returns.

7) The ratio Quick Assets/Current Liabilities is known as:

a) Working capital

b) Current Ratio

c) Acid-Test Ratio

d) Equity Ratio

8) Which of the following is not counted as part of Quick Assets?

a) Inventory

b) Accounts receivable

c) Cash

d) Notes receivable

9) Which of the following statements is true?

a) The economic life of an asset is the life that minimizes the annual equivalent of the capital cost of its acquisition

b) The economic life of an asset is the life that minimizes the annual equivalent of its operating costs

c) The economic life of an asset is the life that minimizes the annual equivalent of the sum of its operating costs and its capital cost

d) The economic life of an asset is the life that maximizes the annual equivalent of the sum of its operating costs and its capital cost

10) We buy a machine for a cost $P, and after N years we sell it for a salvage value $S.  Its equivalent annual cost, or capital recovery, is:

a) P(A/P,i,N) – S(A/F,i,N)

b) P(A/F,i,N) – S(A/P,i,N)

c) (P-S)(A/P,i,N) – S(A/F,i,N)

d) (P-S)(A/P,i,N) – (S-P)(A/F,i,N) 
